[deg]
o
S

1 do
6]
dA(p12

0.05

0.04

0.03

0.02

Ratio to CMS
[N

13000 GeV pp

I T I T | T I T I T I
AQ(jj) (CMS back-to-back jets)

m CMS
—4— Pythia 8.308 default
Pythia 8.308 tune-1
Pythia 8.308 tune-2c¢
Pythia 8.308 tune-2m

Rivet 3.1.10, = 2M events

B )

— 1M

<

L 1™

o A o O 8 ©

T \@/u/“’“\\“// n b " —8

SRS |-

SR e :

- © a >2

B 18,

=

B -0

— =

Q

| —H O

n

B e

- 1 O

&)

] | | | | | | | | | ] £
:l T T T T | T T T T |:

- 42

Py S 2 P ( ] e ey T 1

— —0.5
| 1 1 1 1 1 1 1 1 1 | 1 1 |

170 175 180



	Contents
	Page 1


